Chapter 4 Review Name k -QA/
Pre-AP Geometry

_Directions: All work must be shown to receive full credit. Figures are not drawn to scale.
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Find the surface area and volume of the triangular prism.
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Find the volume of the remaining figure when the cone is removed from the cylinder.
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Two similar cylinders have surface areas of 18r and 32n.
a) Find their similarity ratio. ,
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b) Find the ratio of their volumes. ",;' et
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c) If the volume of the large cylindér is 320w, what is the volume of the smfall cylinder?
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A sphere is inscribed in a cube. Find the ratio of the (a) surface area of the sphere to the surface area
of the cube and (b) the volume of the sphere to the volume of the cube. r=6
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A rectangular pyramid fits exactly on top of a rectangular ﬁrism. Find the volume of the composite
space figure if the prism has length 17 cm, width 8 cm, height 15 cm, and the pyramid has a height 7

cm. |
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6. If the surface area of a sphere is 9, find its volume. ¢ 2

Sa= 9T r?= 2-25 V= 3~

%‘rz:%g r=/.% iV:b{gn;/

7. (a) Suppose you rotate the right triangle shown 360° about the x-axis, what is the volume of the resulting
cone in terms of n? (b) suppose you rotate the triangle 360° about the x-axis. What is the surface area in
terms of n?

AY
I
V= 5m-2} SH= Tl + T2
2 7
= A =
Siw)e) TP R
= ("
= =24 ﬂ'] il
e i
2t X
P
8. The lateral area of two similar cones is 36z cm? and 25z cm? What is the ratio of the heights?
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9. A plane parallel to the base of a square pyramid divides the pyramid into 2 pieces making 2 similar

pyramids. Find the ratio of:
height of small pyramid = 2, height of large pyramid =5
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c) area of smaller pyramid’s base to large pyramid’s base
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10. Two similar pyramids have lateral areas of 8 cm? and 18 cm?. If the volume of the smaller pyramid is
32 cm®, what is the volume of the larger pyramid?
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11. What is the cross section?

12. What is the length of the stick in the box?
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